1) Express A as a product of elementary matrices, where

Perform row operations to get to identity matrix

Then, do the opposite and rewrite as matrices

$$A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$$
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 
 $A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix}$ 

Then, do the opposite and rewrite as matrices

$$0 \leftarrow 0 - 70$$
 $0 \leftarrow 0 - 70$ 
 $0 \leftarrow 0 \leftarrow 0$ 
 $0 \leftarrow 0 \leftarrow 0$ 

$$\begin{bmatrix} -6 & 0 \\ 0 & 1 \end{bmatrix} \Rightarrow \begin{bmatrix} 1 & 0 \\ 0 & -6 \end{bmatrix} \begin{bmatrix} -6 & 0 \\ 0 & 1 \end{bmatrix}$$

$$A = \begin{bmatrix} 1 & 7 \\ 0 & 1 \end{bmatrix} \begin{bmatrix} -6 & 0 \\ 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 1 & 1 \end{bmatrix}$$

To check, multiply from right to left

$$A = \begin{bmatrix} 1 & 7 \\ 1 & 1 \end{bmatrix} = \begin{bmatrix} 1 & 7 & 7 \\ 0 & 1 & 1 \end{bmatrix} \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix}$$

\* there's more than one possible solution

\* elementary matrix is one step away from identity, i.e. differs by one elementary row operation

2) Find a system of equations having as solution set the following affine subspace of R4,

$$\begin{bmatrix} w \\ y \\ z \end{bmatrix} = \begin{bmatrix} 1 \\ 1 \\ 2 \\ 1 \end{bmatrix} + \begin{bmatrix} 3 \\ 2 \\ 2 \\ 1 \end{bmatrix} \begin{bmatrix} 5 \\ 1 \\ 2 \\ 2 \end{bmatrix} \begin{bmatrix} 5 \\ 1 \\ 2 \end{bmatrix} \begin{bmatrix} 5 \\ 2 \\ 3 \end{bmatrix} \begin{bmatrix} 5 \\ 2 \\ 3 \end{bmatrix} \begin{bmatrix} 5 \\ 3 \end{bmatrix}$$

(continued)

$$\begin{bmatrix} 2 & -3 & 0 - 1 \\ 1 & 0 & -3 & 2 \end{bmatrix} \begin{bmatrix} 1 \\ 1 \\ 0 \\ 1 \end{bmatrix} = \begin{bmatrix} 6 \\ 3 \end{bmatrix}$$

## Note: there are many more possible solutions

$$\begin{bmatrix} 1 \\ -1 \\ -1 \end{bmatrix} = \frac{1}{3} \begin{bmatrix} 2 \\ -3 \\ 0 \\ 1 \end{bmatrix} + \frac{1}{3} \begin{bmatrix} 1 \\ 0 \\ -3 \\ 2 \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 \\ -1 & -1 \end{bmatrix}$$
 because these two columns are the 
$$\begin{bmatrix} -1 \\ -1 \end{bmatrix} s + \begin{bmatrix} -1 \\ -1 \end{bmatrix} t = \begin{bmatrix} -1 \\ -1 \end{bmatrix} r$$
 same, so don't give any new info  $\rightarrow$ 

$$\begin{bmatrix} 1 & -1 \\ -1 & 1 \\ -1 & 1 \end{bmatrix} \qquad \text{or} \qquad \begin{bmatrix} -\frac{2}{3} & 2 \\ 1 & -\frac{3}{3} & 0 \\ -\frac{1}{3} & 1 \end{bmatrix} \text{ etc.}$$

5 then use that other matrix to find right hand side

$$\begin{bmatrix} 1 & -1 & -1 & 1 \\ -1 & -2 & -1 & 0 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \\ 1 \end{bmatrix} = \begin{bmatrix} 1 \\ -3 \end{bmatrix} \rightarrow \begin{bmatrix} 1 & -1 & -1 & 1 \\ 1 & -2 & -1 & 0 \end{bmatrix} \begin{bmatrix} w \\ y \\ z \end{bmatrix} = \begin{bmatrix} 1 \\ -3 \end{bmatrix}$$

solve for system of equations that has O as solution set, then plug 3 in Find compl. to homag.

\* for more detailed method/other ways to find compi. stn, see problem #2

$$5[01-20][3]=[0]$$

plug @ in here

$$\begin{bmatrix} 0 & 1-2 & 0 \\ 1 & 0-1-1 \end{bmatrix} \begin{bmatrix} 2 \\ 1 \\ 3 \end{bmatrix} + \begin{bmatrix} 1 & 0 \\ 0 & 1 \\ 1 & 0 \\ 3 & 0 \end{bmatrix} \begin{bmatrix} C \\ d \end{bmatrix} = \begin{bmatrix} 0 \\ 1 \end{bmatrix}$$

$$\begin{bmatrix} -1 \\ -2 \end{bmatrix} + \begin{bmatrix} -2 & 1 \\ -3 & 0 \end{bmatrix} \begin{bmatrix} c \\ d \end{bmatrix} = \begin{bmatrix} 0 \\ 1 \end{bmatrix}$$

$$\begin{bmatrix} -2 & 1 \\ -3 & 0 \end{bmatrix} \begin{bmatrix} c \\ d \end{bmatrix} = \begin{bmatrix} 1 \\ 3 \end{bmatrix}$$

$$\begin{bmatrix} -2 & 1 \\ -3 & 0 \end{bmatrix} \begin{bmatrix} C \\ d \end{bmatrix} = \begin{bmatrix} 1 \\ 3 \end{bmatrix} \longrightarrow \text{multiply both sides}$$
by inverse of 
$$\begin{bmatrix} -2 & 1 \\ -3 & 0 \end{bmatrix}$$

continued

$$\begin{bmatrix} -2 & 1 \\ -3 & 0 \end{bmatrix} \begin{bmatrix} c \\ d \end{bmatrix} = \begin{bmatrix} 1 \\ 3 \end{bmatrix}$$

$$\begin{bmatrix} -2 & 1 \\ -3 & 0 \end{bmatrix} \begin{bmatrix} 1 \\ 3 \end{bmatrix} = \begin{bmatrix} -2 \\ 3 \end{bmatrix}$$

$$\begin{bmatrix} -2 & 1 \\ 3 \end{bmatrix} = \begin{bmatrix} -1 \\ -1 \end{bmatrix}$$

$$\begin{bmatrix} -1 \\ 3 \end{bmatrix} = \begin{bmatrix} -1 \\ -1 \end{bmatrix}$$

$$c = -1, d = -1$$

$$\Rightarrow Plug \text{ these back into (2)}$$

$$\begin{bmatrix} w \\ y \\ z \end{bmatrix} = \begin{bmatrix} 2 \\ 1 \\ 3 \end{bmatrix} + \begin{bmatrix} -1 \\ 0 \\ 1 \end{bmatrix} = \begin{bmatrix} 0 \\ -1 \\ 3 \end{bmatrix}$$

$$= \begin{bmatrix} 2 \\ 1 \\ 3 \end{bmatrix} + \begin{bmatrix} -1 \\ 0 \\ -1 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

Another method: solve for system of equations that has (2) as solution set, then plug (1) in

Jou'n only up with a=1, b=1, then plug into (1) to get solution

yet another method

$$\begin{bmatrix} \frac{3}{2} \\ \frac{1}{2} \end{bmatrix} + \begin{bmatrix} \frac{1}{2} \\ \frac{1}{2} \\ \frac{1}{2} \end{bmatrix} = \begin{bmatrix} \frac{2}{3} \\ \frac{1}{3} \end{bmatrix} + \begin{bmatrix} \frac{1}{3} \\ \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} \begin{bmatrix} \frac{1}{2} \\ \frac{1}{3} \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & -1 & 0 \\ 2 & 0 & 0 & -1 \\ 1 & 0 & -1 & 0 \\ 0 & 1 & -3 & 0 \end{bmatrix} \begin{bmatrix} 0 & 1 & -1 & 0 \\ 0 & 1 & -3 & 0 \\ 0 & 1 & -3 & 0 \end{bmatrix} \Rightarrow \begin{bmatrix} 1 & 1 & -1 & 0 & -1 \\ 2 & 0 & 0 & -1 & -1 \\ 0 & 1 & -3 & 0 & 2 \end{bmatrix}$$

Then row reduce